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Vertex Form by Completing the Square A'Pr 77 / 20lb

Recall:
Vertex form: y = a(x - h)? + k
Note that (x - h)? is a perfect square.

In general, for perfect square trinomials,

(a+b)Y =a’ +2ab+ b’

(a-b)Y’ =a’ -2ab+b’
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Identify the missing constant so that the trinomial is a
perfect square trinomial, then factor it.

x2+6x+i = (x+2)? @

Mar 25-8:02 AM
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Identify the missing constant so that the trinomial is a
perfect square trinomial, then factor it.

X-ax+ 4 = (x-2)

®

Mar 25-8:02 AM

Ex.1 What is missing from these perfect squares?

(a) x> + 10x + 25 =(x+T )

Nov 23-8:41 PM
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|dentify the missing constant so that the trinomial is a
perfect square trinomial. You will have some tiles "left over".

@+6x+3 = (x13f _—6 ®

Mar 25-8:02 AM

Identify the missing constant so that the trinomial is a
perfect square trinomial. You will have some tiles "left over".

-t @

Mar 25-8:02 AM
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Steps:
1) Factor out 'a' from the first two terms.
2) Force a perfect square for the factored first two terms.

3) Collect the constants.

Ex.2 Complete the square for each of the following

a)y=x*+12x-7
y = (x46)* 43
oR

y= vz -3
%:&Hzx-ks_e)—sg—i]. [*=3,
%: (’K+632 —(Fé

May 3-7:51 PM

b)y = x?-20x + 15

Nov 23-9:00 PM
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c)y=23x*+12x + 11

3:3(7(24'_4'X> + 1]
4=2 2%=4

Y =3(x i +i~q> +1)
l-pado( ’XIZ'('L(’K‘('L}

R
W= 3(7(+Z\L~l7— + ||
\g=3(><+?j'—\

May 4-8:48 AM

d)y=-x*+6x +13

Nov 23-9:00 PM
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Assigned Work:

p.331#2, 3, 4, 5ad) {bYe,() 11, 16
50 =4 -Mbx oS

% = —“{’.?(’)(1 + ‘-kr;(\‘\ +0.§

\é=—%~{w—ﬂ +0.S

4 =- q(x+2) vk £0-S

Y=-4a(x) 2o,

Mar 20 - 4:57 PM

EO, 8=7<2+/2«+36 2=
—xZyrex 43l -2 43, L =3

= (x+b) 40
y =A( +6)"
N(-t,0)
O h.shibt (oft L& b

Apr 25-12:40 PM
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Q‘ P = "/S"K +24ox "‘U(O (_zg)zzé?z
t= ~l§[9<2— /éxj ~L4o

P--is [zi—_lh_*%—“] -L4o

P-- @m] Lo

P=-15(x-€)" + 960 - 40
P=-15(x-t) +320

\f(fl%‘}@

- R clientr +o mmimxé-g?cb‘ﬁ*
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